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PART—I
( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in 5. Look there are in the
the blanks with suitable articles like water.
a, ‘an’ and ‘the’ : (A) birds

1. Sarita is going to join as (B) butterflies

BDO.

A) th Q:}E’i \(,Cf1 tadpoles
e T
(BY a | ORG) (D) More than one of the above
(C) an | (E) None of the above
(D) More than one of the above
(E) None of the above 6. A year is called leap year if it has
2. Washington Post is the (A) more days in a month
most read newspaper in the (B) more days in weeks
Ig}‘ | v- (C) less days in a month
The
B) A ’ (D) More than one of the above
(©) An - (E) None of the above
(D) More than one of the above
(E) None Qf the above 7. Son of brother is known as
3. Which of the following is not &) nephew
a part of kitchen? (B) cousin
(A) Bucket- (C) sibling
(B) - Geyser
(C) Tap (D) More than one of the above
(D) More than one of the above (E) None of the above
(E) None of the above '
) 8. Father’s sister is known as
4. Which among the following :
is not a fruit? (A) mausi
(A) Carrot (B) sister-in-law
(B) Turnip (C) cousin
(C) Beetroot (D) More than one of the above
{P) More than one of the above
(E) None of the above . \BY" None of the above
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9. - A ‘T yErd Ry’ I9IT ¥
faia e R7

(A) <

(B) Aureh

{C)- Tt

(D) ST &% A uF & i
(E) 3udt § A A 7k

{

EaE
s 4
T

10. ‘rﬁﬁsﬁ’m_swmaﬁaﬁ@%?
(a) ot =i -
(B) ufirdt f&=h 1
(C) fmlt
(D) 39w # 4 T W i
(E) Sudw # q =i 7

11. ‘S99 9@ H qG-ugE Fen 3 F
o v gera §
(A) ¥ 2
_B) o =1 g F=n
(C) /e A e
(D) 39 § A T § AH
(E) 3w & @ I8 T

12, gode@ ¥ ‘whaed’ # @
W & Y 87

(A) Afre

JB) sl

(C) s

(D) v & A 0% @ I
(B) i & @ =ré T
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13.°

14.

15.

(C) =R
(D) IH® A ¥ T A A=
(E) I 1§+ ¢

@ «eft ® Artificial Dialect’
(Fhm aelt) B ww R?

(A) st e A
(B) Tiemsree
(C) Tl g arEt -

(D) 39g% # A wF A Afw

(E) Iuge & A w§ T

‘Tt I % il w-H A

R T

16.

(A) Tt e

(B) WA 4gISl

(C) ufenft wsrh,

(D) 3udh & ¥ wF A Al
(E) 3w # q =i

‘aﬁaﬁ’aﬁrﬁmmmﬁtﬂw.
S &7

@A) Rt —

B) fed

(C) fergearh

(D) v # ¥ ws | firew
(E) I9gw & @ ¢
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9. HH-H AN ‘mex werdl R’ 3o 13"%?
erfa e 27 N N '
(A) =& S
(B) =ureft B)
(C) =X
S} TEaEh :
(D) 31 A = A ot (D) :::ﬁj—:ﬁm
(E) wwdw & & oy ® >
‘ ®mae aeh @ ‘Artificial Dialect’
10. ‘Tﬁ?ﬁﬁ’m.mmﬁa‘l?ﬁ%? 14. %M)mm%?
(B) ufrd = _4_, (B) TrewEe
) Fred () Tt & andt -
(D) 3w A A @ i (D) S AT A IAE
(E) 3w # A ¢ 7 (E) I # & A T
11. ‘D 9@ H To-GgER FeN A F 15. ‘&’ I % wia FH-W hl
e v geral § e /7
(A) T e . (a) ff wersh
_(B) fra T T . (B) mA W
€ T@ATE (C) wfish verel
(D) v 3 A T R A (D} s A8 5 3
E) s i & wd (E) s i 4 # T
ﬁ“ﬁﬁﬂﬁ?ﬁ’@mm 16. ‘TfRad’ A fFa 3= W @ ft TFW
12. S &7
? | B
o & R @) R o
(a) AR | (B) f&&
By @ (©) fegerh
(C) T ﬁm (D) 39 | A TF @ 31w
(D) Wiﬁﬁa@:@ (E) 3w & A =1 7
@) s A A | |
/05-A 3 ENNRIRG Wy | p, T. 0.

M
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17. Trfafaa % @ m-w ye e 27
(A) 3famerd
(B) s
(C) 3faerty _
(D) 3w 3§ @ uw A arfrm
(E) 39w § & ¢ 7

18. argr W wfy-fsde 3
(A) T +
(B) = +3q1 -
(C) T3+ Fan
(D) 39fw & A wH | AfH
(E) Iudw & @ *id 7

19. ‘Y =1 yuigar v &
(A) =
(B) W
(C) plewra
(D) 3R &8 T A afires
(E) 39w # | =i 7

20. 1 1 3foRE F @@ A A F
fore u wee @

(A) IfERE

(B) fderfies

(C) wr=a

(D) 9% § & o QA e
(E) 37w & § *1§ 7
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21. ‘mithfs fra e 1w 8

23.

24.

(A) T\,

(B) IR

(C) TR

(D) I & @ o A AT
(E) 3ot & § 1§ T

. i i gl ¥ H-E g IR T R

A) wh=afeft ~

(B v
(0) PR .

(D) I # & T @ 3w
(B) 39 & & = 78

‘W’Wﬁaﬁﬁ-mm%?
(A) SEFHNE

(B) g .

(C) ==

(D) 394w § ¥ % ¥ 3fir
(E) 30w 3 & s e

Frerferfa & & wm-an e g 37
(A) AP % 3w A ¥

(B) mmwvmv%aﬁwl
(C) %% T aga € It ar 2
(D) 37w # A wF A o
(E) 37w % & 9 7
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(A) &

(B) @& .

(©) frdrem
(D) Sww A AT § afw
a ®) Wﬁﬁ@ém '

26. YR W= Brw g F Ben-fdw ¥

w9 7 e g &7

(A) W'ﬁww%;

(B) ¥® =i fohe Y B

© & e Aga G R B)
(D) 3T # 9 T & s
(E) Wﬁﬁaﬁéq@’f

27. mﬁmmaﬁum%
(A) FEPA
(B) wifa
© P
(D) A T
’(E)E@ﬂ?ﬁﬁaﬁi?ﬁ
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(B) HE1E
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(D) ST | ¥ T 4 Afew
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29. Fmafafed 4 ¥ SF-T1 ITagey Fdam
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(A) gH
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(C) & —~
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(B) 39w & q 1§ i
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PART—II

( GENERAL STUDIES )

31. In g shop, the cost of 2 pencils

and 3 erasers is 9 and the
Cost of 4 pencils and 6 erasers
is ¥18. What is the cost of each
Pencil and each eraser?

(A) The cost of each pencil is

®1 ang the cost of each
Craser is ¥2
(B) The cost of each pencil is
T2 and the cost of each
eraser is ¥ 1
\@ The cost of each pencil is
¥3 and the cost of each
eraser is €2

(D) More than one of the above

r(\E)/I»‘”one of the above

32. The average age of 4 sisters is

7 years. If we add the age of
mother, then the average age

is increased by 6 years. The age
of the mother is
(A) 37 years

(B) 42 years~”

(C) 34 years

(D) More than one of the above

(E) None of the above

22/MIV/M~2023-05/S2 (M)/05-A

o

R

Blvs
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3.

32

6

33.

34,

L T i

(A)

The volume of the right }Q)rism
with an area of base 1 2},’?_ and
height 23 m is -

(A) 5.26 m3

(B2783 m3

(C) 529 m3

(D) More than one of the above

(E) None of the above

How many prime numbers are
there between 1 and S0?

10 %,,
' g

(B) 15

(C) 21-

(D) More than one of the above

(E) None of the above

22/



31.

\)

e g i 2 R o 3 TR A hi
£9 qu 4 IR MR 6 W R Hya
£ 18 2 va% Ia 3 T&F W
$ia =1 87

(A) Y= Gfae H Fma T1 oaw
Tw W R A T2

(B) % Ufm H dma T2 d

PART—II
( GENERAL STUDIES )

33.

121 = Hiet MR faFa A 23 fiy

_ﬁéaﬁmﬁmmm%

(A) 5-26 T HiX

(@) 2783 W AR

(C) 529 =4 Hix

TS @ hia &1
o t D) s A 2 T & A
(C) v% U@ A Hwma T3
e T B 2 8 (E) 39 # F
g
D) sHw A ATH Y A B

(E) 3w # & *I5 7

1 3R 50 & T et s gEd
Tt 87

32. 4 =gt # oiwa oy 7 9 B AR W@ 34.

- g uf Y g Se &, @ w9 9Y
6 a9 ag s &) Af Fir 31y T

(A) 10
(A) 37 =d

(B) 42 @ e
(C) 34 (@ 21

(D) I # § T A AF (D) 39w & & % A sifrw

(E) 39w & & = 7 (E) 39w § & ¢ =t
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A e A T S S S
207,

37. If 3tanb =4, then ”évaluatc

35. The value of \/b__Q009122’5 is
0.00005329
35in6+2c050

35 y, 620080
(A), o5 % S/ > 3sin® —2cos
~
45
® 53 @
B) 2
55
(©) >3
€ O
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
-_y
By
524 |
36. If x, y and z are positive real be A solid i iy . the §
5 10. 5.10 . A solid piece of iron in the form
.numbers, then \EIZSX yz of a cuboid of dimensions
is equal to 49 cm x 33 cm x 24 cm) - is
w : moulded to form a solid sphere.
(A) Sx=yz< -~ : The radius of the sphere is
(B) 25x3y2z (A) 19 cm
(B) 23 cm S
(C) 125x3yz?
(C) 21 cm

(D) More than one of the above
' (D) More than one of the above

(E) None of the above (E) None of the above

22/MIV/M-2023-05/52 (M)/05-A 8 N HERVICL O AR RO
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[AALXAV)E

' WWW% - 37. IR 3tane =47,
35. 1p.00005329
3sinB+2cosH

2sIn® +2cosf
3sinB -2cosH

35
(A) 73
o1 TeaiohA IR |
(B) 93 o
5
© = (B) 2
(C) O
(D) I & ¥ T | Al o) g 8 @ o
(E) 39gt § A I T (E) I9g & A F1E T

36.ﬂﬁx,y@?zuwmm 38, a7 w1 T 3 gHe (49 Ao o x

ﬁ,‘cﬁ%lQleoyszlomﬁTﬂ 33 'ao o x 24 'ﬁo ‘Iﬂo) ﬁﬂT?.ﬁaTé
w% AN F SHR H Bl TP BT
% I e T ST & M A\

(A) 5x3yz?
EIR
(B) 25x3y?z 15750 1
(C) 125x2yz? (B) 23 Ho Hio
(C) 21 "o o
(D) mﬁ@@ﬂm o i 8w o
(E) Wﬁaaﬁéwﬁ () v 8 & 9 Tl
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39. In nuclear reactors, DO is used
as

(A) fuel

(B) source of deuterons

- (D) More than one of the above

(E) None of the above

40. Lacteals are concerned with

(A) production of milk,

I;__!j,i[ﬂ
[l

(B) secretion of lactic acid
(C) absorption of fats
\(B)/More than one of the above

(E) None of the above

41. Which branch of botany is
concerned  with the study of
photosynthesis?

(A) Plant Taxonomy
(B) Ecology
\/(C) Plant Physiology

(D) More than one of the above

(E) None of the above -

22/MIV/M-2023-05/S2 (M)/05-A 19

42. The study of inheritance from
one generation to another jq

known as

(B)

genetics

microbiology
(C) cytology
(D) More than one of the above

(E) None of the above

Which pigment is essential for
nitrogen fixation by leguminous
plants?

43'

(A) Anthocyanin,
(B) Leghaemoglobin .
..-,(9) Phycocyanin
(D) More than one of the above

(E) None of the above

44. The enzyme which is mixed with
food in our mouth is
(A) pepsin

(B) peroxidase

%)
(D)

amylase
More than one of the above

(E) None of the above

IR0 OO T 0
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39. ;ﬁWﬁ@ﬁﬁDgOmmﬁm 42. e 2
n) eRFEEA (A) SRR
() SR % da A (B) WH-ATH
() e FER () Fifm-fa
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(E) I § A B () I § A T
40, v Peffaa & @ femd welE 43.Wﬁtﬁﬁ:@m®ﬁw%
Bt 87 foqq H-T FOTh AR 37
(A) -3 (A) oA
B) afFes ra-ad (B) AR
(C) = R (C) WEHREE
(D) I & @ T A AlE (D) I § A T § A
(E) I & § FE T (E) Il & @ g T
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45. Al05.28i0,.2H,0 is the

chemical formula for

\(}) monazite

(B) china clay

(C) sand

(D) More than one of the above

(E) None of the above

l 46. An animal that chiefly eats meat
is called as

(A) omnivore
JB) carnivore

(C) herbivore
(D) More than one of the above

‘ (E) None of the above -

22/MIV/M-2023-05/52 (M)/05-A ~ 12

47. ‘DigiYatra’ was not started o
which airport on 1st Deccmber’

20227
(A) Bengaluru
(B) Raipur

(©) Varanasi

)

(E)

More than one of the aboy,

None of the above

48. Who was the Chief Guest o,

the Republic Day, 26th January,
2023?

(A) Rishi Sunak
(B) J. R. Biden
JQ) Abdel Fattah el-Sisi
(D) More than one of the above

(E) None of the above

49, Where was the Sth European
Union-India Competition Week,
2022 held?

(A) Mumbai

(B) Bengaluru

(C) New Dethis

(D) More than one of the above

(E) None of the above

O A O O

Y~




46.
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(C) ¥R

(D) mﬁa@ﬁm‘

(E) Wﬁaaﬁiwﬁ

05-A ..

47.

48.

49.

1 feemm, 2022 # fra
¢ : ga-rg
ERfram’ T e g oA 7w

(A) IR

(D) 37w & 8 TF @ A
(E) I & & HIE T

e R, 26 I 2023 % T&
afafy % 27

(A) W T
(B) o 370 dTESA

© s wae -
(D) mﬁ?ﬁﬁﬁ@ﬁaﬁm
(E) 9 i § #E T

5ot i @a-vra S HHe,
2022a'rs‘famﬁﬁmﬁmmm?

(&) g

(B) I

(c) et

(D) 3w i ¥ T QA A
(E) 3T & & H§ 7
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country has recently

50. Who was the Project Director 52. Which o The sucecssfu]
for ISRO’s Aditya-L1 Mission, announce o
s Aditya-L eradication of ‘Rubella™

launched on 2nd September;

2023 to study the Sun? (A) Cuba
} Bolivia

(A) Sankarasubramanian K. JB) olivl
(C) Bhutan

(B) P. Vceramuthuvel ‘ (D) More than one of the above

_[C) Nigar Shaji (E) None of the above

Who has been awarded the

(D) More than on€ of the above 53.
Legion oOf Merit’ Award by
the USA?

(E) None of the above
A General Dalbir Singh Suhag

(B) General Bipin Rawat

(C) Roy Bucher

51. Which State Legislature in the
USA became the first State that (D) More than one of the above

has voted to outlaw discrimina-
tion based on caste for people of
South Asian descent who allege
\ that they have been left out of

(E) None of the above

What is the purpose of ‘India

T traditional American safeguards 54.
) for fairness in employment and Pride Project™
> housing?
> (A) To provide justice to the
Indi livi in forel
(A) California ndians ving in fore®
countries
e "
(B) New York (B) To provide Justlce.to wom;
who have been divorced DY
NRIs
) Mississippi '
v@ d © Bringing Indian heritag®
back to India
(D) More than one of the above .
(D) More than one of the abo¥

(E) None of the above (E) None of the above

22 /MIV /M-2023— .
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(E) e # A 1% T
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(D) mﬂ;ﬁﬁﬁ@a Y

(E) Wﬁﬁiﬁiﬂa
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(A)
(B) aifafan

A

©) =
(D) 3T A H TF W AfF
(E) 37w § @ 3 T
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54. ‘tfe wiee o’ I &
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fear
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55. Wh.
yo eh of the following is not
ung fold mountain?

W Aravatiis

(B) Andes
(C) Appalachians

(D) More than one of the above

(E) None of the above

56. Which of the following arcas has
the lower snow line?

U4 Equatorial region
(B) Himalayan region
(C) Alps region
(D) More than one of the above
(E) None of the above

57. The Tropic of Cancer covers

the maximum area of

(A) Ranchi Plateau

(B) Malwa Plateau

R Chota Nagpur Plateau

(D) More than one of the above
(E) None of the above

58. Thorn forests are not found in
(A) Karnataka-
(B) Andhra Pradesh
(C) Tamil Nadu

(D) More than one of the above
(E) None of the above

22/ M1v IM-2023-05/S2 (M)/05-A
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60. Name the country who will hogt

_€) Brazil

61.

62.

16 U1 DUARSRTRL O AR [

(D) More than one of the above

(E) None of the above

the first G21.
() France
(B) Japan

(D) More than one of the above
(E) None of the above

Which of the following
instruments is used for
measuring humidity in the air?

(A) Aerometer

(B) Hydrometer

(Qy Hygrometer

(D) More than one of the above
(E) None of the above

Which of the following blows
from Mediterranean Sea t0 the
Northwest part of India?

(A) Western Disturbance
/1B)
(C)
(D)
(E)

Norwester
Mango Shower
More than one of the above

None of the above
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63. Under whose leadership did the
Santhal Rebellion of 1855-1856

take place?

(A) Raj Kumar Shukla
(B) S. N. Sinha

(C) Sahajanand Saraswati

(D) More than one of the above
@y None of the above

64. Which important event took
place on 5th March, 1931?

JA) Gandhi-Irwin Pact

(B) Gandhi attended the Round
Table Conference

(C) Karachi Congress

e
e

(D) More than one of the above
(E) None of the above

65. When did the Bihar Youth
League come into existence?

(A) 1930

JB)-1928

(C) 1940

(D) More than one of the above
(E) None of the above

66. Who led the Salt Satyagraha on
6th April, 1930 in Champaran?

(A) Bepin Behari Varma”

(B) Laxmi Narayan Jha

(C) Ramlal Prasad

(D) More than one of the above
(E) None of the above

67. When was the Poona Pag

signed?

IA}234th September, 1932

68.

69.

70.

(B) 24th September, 193
(C) 26th September, 193
(D) More than one of the above
(E) None of the above

Who led the 1857 Revolt i
Bihar?

(A) Mir Bakhsh

\(})/ Babu Kunwar Singh

(C) Birbhan Singh
(D) More than one of the above
(E) None of the above

At  which of the following
Sessions of the Indian National
Congress did the Champaran
trouble come up for discussion?

(A) Calcutta, 1911

~B) Patna, 1912.

(C) Ramgarh, 1940
(D) More than one of the above
(E) None of the above

Who gave the famous slogan
Inquilab Zindabad™

(A) Hakim Ajmal Khan

(B) Chandra Shekhar Azad

(C) Hasrat Mohani

(D) More than one of the above
~fE) None of the above
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71.

T2.

73.

Find the single
equivalent to twoO )
discounts of 20% an 10%

(A) 25%
(B) 26%
O 28%
(D) More than oné of the above

(E) None of the above

In a certain experiment, .the
count of bacteria was increasing
at the rate of 2:5% P€T hour.
Initially, the count was 512.000.
Find the count of bacteria at
the end of 2 hours.

JA) 537920
(B) 536920
(C) 537960
(D) More than one of the above

(E) None of the above

The value of a machine
depreciates at the rate of 20%
per annum. It was purchased
two years ago. If its present
value is 40,000, for how
much was it purchased?

(A) 62,500
(B) ¥65,200
(C) ¥56,500
(D) More than one of the above

(E) None of the above
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74.

75.

ch of the following statern(Erlta

Whi )
essarily true?

nm A quadrilateral s

parallelogram if
diagonals bisect each othe,

4

() If the diagonals Of
a quadrilateral are equy
then it is a rectangle. :

@y 1f  the  diagonals
a quadrilateral intersect 4
right angles, then it A
a rhombus.

(IV) A rectangle, a square ang
a rhombus are special types
of parallelograms.

(A) I
B) 1

(©) I

(D) More than one of the above
(E) None of the above

ABCD is a trapezium in
which AB||DC, AB=T8
CD =52 cm, AD=28 cm and
BC =30 cm. What is the ared
of this trapezium?

(A) 1860 cm?

(B) 1680 cm?

(C) 1620 cm?

(D) More than one of the above

(E) None of the above

20 11 A0 0R A ARCA (Ll
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t 74- Whlil;: necessanly v .
i discoun is n qateral is g
7L Find the singe BRTC quadrilateral
equivalent to tw

0,
discounts of 20% and 10%.

f its

I) am 5

( par acl)lr‘::;sgr pisect each other,
diag

jagonals of
(A) 25% - the d;f;lg are oqual
(B) 26% ( quadrilater 1 ,
N 28% ?hen it is a rectangle.
0

(D) More than one of the above
(E) None of the above

72. In a certain experiment, the
count of bacteria was increasing
at the rate of 2:5% per hour.
Initially, the count was 512.000.
Find the count of bacteria at
the end of 2 hours.

the  diagonals  of
e uadrilateral interse'ct at
f-‘ig(}lxt angles, then 1t is
a rhombus.
(v) A rectangle, a square and

a rhombus are special types
of parallelograms.

a) 1

J4) 537920 i
920

(B) 536 o m
(C) 537960

(D) More than one of the above
(E) None of the above -

73. The value of a machine
depreciates at the rate of 20%
per annum. It was purchased
two years ago. If its present

value is ¢ 40,000, for how
much was it purchased?

(A) ¥62,500

(B) £65,200

(C) ¥56,500

(D) More than one of the above
(E) None of the above

75.

(D) More than one of the above

(E) None of the above

ABCD is g trapezium in
which AB||DC, AB =78 cm,
CD =52 cm, AD =28 cm and
BC =30 cm, What is the area
of this trapezium?

() 1860 cmm?2
B) 1680 cm2
© 1620 cp2

D) More than one of the above
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(A) 537920
(B) 536920

(C) 537960
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A T A 2 W A T @ wlE ™
— o ufe =gh FdaE Hwa € 40,000
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(A) €62,500
(B) €65,200

(C) ¥56,500
(D) w@ﬁﬁﬁ@%m
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Aa) 1

(B) II

(C) I

(D) 39 & & TF q I

(E) 39geh # A FIE T

75. ABCD U& 8o ¢, s AB || DC,
AB =78 ®o Hlo, CD =52 Ho Hlo,
AD=28 @0 Ho 3R BC=30 ¥o Hio|
0 AR T ATHA T 87

(A) 1860 T Qo o
(B) 1680 i Fo o
(C) 1620 @i Qo Hlo
(D) S # & 7% J afoep
(E) 394w § | 15 T
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